Miss Hughes' group - Fluency answers

Bronze
la. 24, 3 1b. 16, 2
2a. 40 2b. 24
3a. False. 48 3b. True
4a. >, = 4b. =, <
1a. True 1b. False because 48 =8 =6
2a0.40=8=5 2b.64=-8=8
3a.48=-8=6 3b.72+-8=9
48 72
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40.24:8=3,24+3=8 4b. 56 +7=8,56+8=7
50.48, 6 5b. 40, 5
éa. 56 éb. 48
7d. False. 64 7b. False. 96
8a. =, < 8b. >, <
5a. False because 32 +8=4 5b. False because 56 +8=7
6a0.48 - 8=6 6b.88=8=11
70. 64 +-8=8 7b.32+8=4

64 32
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80.40+5=8;40+8=5 8b.72+9=8,72+8=9
9a.2, 12 9b.2, 4
10a. Accept any array that accurately 10b. Accept any array that accurately
represents 88. represents 72.
11a. True 11b. False. =
12a. €, < 12b. =, >
?a. True ?b. False because 40 +8=5
100.464=+8=8 10b. 48 <8 =6
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110.96 =8=12 11b. 56 =8=7
96 56
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120.32+4=8;32+8=4 12b.40=5=8;40+8=5



